Printing Tickets ' T"

Susie is organizing the printing of tickets for a show.

She has collected prices from several printers and these two seem to be the best.

BEST PRINT
SURE PRINT Tickets printed
Ticket printing $10 setting up

25 tickets for $2 plus
$1 for 25 tickets

1. Using C for the cost of the printing and t for the number of tickets, Susie writes a formula for
each of the printers. Here is her formula for Sure Print:

Sure Print C=2t
25

Write the formula for Best Print:

. _ e |
Best Print | c= 10 3 —L\'3 / 2

2. Susie’s brother Rob has drawn Sure Print’s graph on a grid.
Draw the graph for Best Print.
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3. Susie uses algebra to find the values of C and t when the cost of printing the tickets is the same

~ for both of the printers. [
C= ﬁﬁ-O / t= 259 S

Show how Susie may have calculated C and t. I
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4. What do Rob’s graphs and Susie’s calculations tell us about the cost of the tickets?
Which company should Susie choose under what circumstances?
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Susie is organizing the printing of tickets for a show.

She has collected prices from several printers and these two seem to be the best.

BEST PRINT
SURE PRINT Tickets printed
Ticket printing : $10 setting up

25 tickets for $2 plus
$1 for 25 tickets

1. Using C for the cost of the printing and t for the number of tickets, Susie writes a formula for
each of the printers. Here is her formula for Sure Print:

Sure Print C=2t
25

Write the formula for Best Print:

Best Print | C= %g- N | | ())

2. Susie’s brother Rob has drawn Sure Print’s graph on a grid.
Draw the graph for Best Print.
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3. Susie uses algebra to find the values of C and t when the cost of printing the tickets is the same
for both of the printers. |

Cc= Q'O v t= 25— o
Show how Susie may have calculated’ Candt.
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4. What do Rob’s graphs and Susie’s calculations tell us about the cost of the tickets?
Which company should Susie choose under what circumstances?
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Susie is organizing the printing of tickets for a show.

She has collected prices from several printers and these two seem to be the best.

BEST PRINT
Tickets printed

SURE PRINT

$10 setting up
plus
$1 for 25 tickets

Ticket printing
25 tickets for $2 -

£6 Yicks $‘*

22 60

1. Using C for the cost of the printing and t for the number of tickets, Susie writes a formula for
each of the printers. Here is her formula for Sure Print:
56 109
2 Y

Sure Print C=2t 25° 25
25 ' .
Write the formula for Best Print: , L > e
t / 2
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2. Susie’s brother Rob has drawn Sure Print’s graph on a grid. ":[s w105 |4 }-914[0 227
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3. Susie uses algebra to find the values of C and t when the cost of printing the tickets is the same
for both of the printers. ,
C= $20 = 250 s |
Show how Susie may have calculated C and t. l
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4, What do Rob’s graphs and Susie’s calculations tell us about the cost of the tickets?
Which company should Susie choose under what circumstances?
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Susie is organizing the printing of tickets for a show.

She has collected prices from several printers and these two seem to be the best.

BEST PRINT

SURE PRINT Tickets printed
Ticket printing $10 setting up

25 tickets for $2 plus
. $1 for 25 tickets

1. Using C for the cost of the printing and t for the number of tickets, Susie writes a formula for
each of the printers. Here is her formula for Sure Print:

Sure Print | C=2t
25
Write the formula for Best Print: )
Best Print C= .5 * 0 / 2

2. Susie’s brother Rob has drawn Sure Print’s graph on a grid.
Draw the graph for Best Print.

C
40 7! h
30 e -
c t - ]: » 5
ost ; = Ban -
in /
$ 20 ,
anie: s ‘ 5 ;
0o 100 200 300 400
Number of tickets
Copyright © 2011 by Mathematics Assessment Page 4 CCR 6

Resource Service. All rights reserved.




T4

3. Susie uses algebra to find the values of C and t when the cost of printing the tickets is the same
for both of the printers. '
C=20 / t=__ 230 ‘/

Show how Susie may have calculated C and t.

of the 2 lins s the answer | O

N

4, What do Rob’s graphs and Susie’s calculations tell us about the cost of the tickets?
Which company should Susie choose under what circumstances?
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Susie is organizing the printing of tickets for a show.

She has collected prices from several printers and these two seem to be the best.

BEST PRINT

Tickets printed
$10 setting up

SURE PRINT
Ticket printing
25 tickets for $2

plus
$1 for 25 tickets

1. Using C for the cost of the printing and t for the number of tickets, Susie writes a formula for

each of the printers. Here is her formula for Sure Print:

Sure Print - C= _2_t
25
Write the formula for Best Print: :
Best Print C=10 _r;_l:_ /
i)

2. Susie’s brother Rob has drawn Sure Print’s graph on a grid.
Draw the graph for Best Print.
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3. Susie uses algebra to find the values of C and t when the cost of printing the tickets is the same

for both of the printers.
c=_$20 s t=_ 280 l
Show how Susie may have calculated C and t. ’
T +
- T R )
25 ' % 2(259_ 10+ (250 _
- t 25 pA
25 52 T10 - 25 ?99='c | lo+ 10 = C / |
" t =250 2% v 20:=¢C 2
20=¢C

4, What do Rob’s graphs and Susie’s calculations tell us about the cost of the tickets?
Which company should Susie choose under what circumstances?

Susie should chopse Sure Print 1f she has 1€SS 1kon

should ghoose pest Prind.
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